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1. fat B4t €3 Yfafanr agfen €A 11 13/3125 T enHse YA'd |3 96 AT MHIS IS |
without doing long division tell whether 13/3125 is terminating or non - terminating.
2.5 g miufole Bt 3 |- (At /183

\5 is a irrational number. ( true / false)

3. %ﬁ%@mﬁﬁﬁg x”ByE"H"'Lr Y3Tad | Find ' x ' and 'y" in the following factor tree.

4

3. HCF (306,657) = 9 f&37d | LCM (306,657) U3Tad |
If HCF (306,657) = 9. Find LCM (306 , 657) .

4. ferrfimrad fad 7x11x13+13 M3 7x6x5x4x3x2 x 1+ 5 37 Hfymet {96 g5 ?
Explain why 7x11x13+13and 7x6x5x4x3x2x1+5 are composite numbers.

5. M3 JIeause fedt emtdT 96 M3 404 T HCF USTad M3 feg ferer LM usTad |
Using prime factorization method find the HCF of 96 and 404. Also find its LCM.

6. Hftmitat 6, 72, M3 120 T M3 JIeaus< fedt Irdf HCF M3 LCM U™ |

Find HCF and LCM of 6, 72 ,and 120 by using prime factorisation method .

7. Gafs3 €3 Yiuar € yidl dad feumg fa fan aasHd Hyds Rfun e egdr, fan iyas Aftmr m

eBE3mA3m+1 egufedaded

Use Euclid division lemma to show that the square of any positive integer is either of the form

3m or 3m+1 for some integer m.
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